O\

COLUMBUS McKINNON

Yale

Ersatzteilliste
Spare parts list
Manuel de piéces détachées

Seildurchlaufwinde
Endless winch
Treuil a cable passant

Yale

WLL 66 - 1000 kg

400V/3ph/50Hz
460V/3ph/60Hz
230V/1ph/50Hz

COLUMBUS McKINNON Industrial Products GmbH

P.0. Box 11 01 53 - 42301 Wuppertal - Yale-Allee 30 - 42329 Wuppertal
Phone 0049 (0) 202/69359-0 - Fax 0049 (0) 202/693 59-127
www.cmco.eu - www.yale.de - E-mail: info.wuppertal@cmco.eu

Ident.-No.: 09901179/10.2019



Inhaltsverzeichnis/Table of contents/Table des matiéres

Wartungs- und Inspektionsarbeiten diirfen nur von beféhigten Personen durchgefiihrt werden. Betriebsanleitungen und Ersatzteilisten kénnen unter
www.cmco.eu heruntergeladen werden. Bei Fragen wenden Sie sich bitte direkt an COLUMBUS McKINNON oder an einen Handler in ihrer Nahe.

Only allow trained technicians to perform maintenance on this product. Operating instructions and spare parts manual can be download from
www.cmco.eu. Refer all communications to COLUMBUS McKINNON or your nearest distributor.

Seuls des techniciens habilités peuvent réaliser la maintenance sur ce produit. Les notices de montage et de piéces detachées peuvent étre téléchargées
sur www.cmco.eu. Transmettre toute information au bureau COLUMBUS McKINNON rand le plus proche ou au distributeur.

Beschreibung/Description/Description Seite/Page/N°page

Information zur Ersatzteilbestellung/Parts ordering information/Information sur les piéces 3

Gerat, kpl./Hoist assy./Palan ass.

YMTF 0,6-30 4.5
YMT 1-30 4-5
YMTF 2-10 6-7
YMT 3-10 6-7
YMT 5-5 6-7
YMT Gleichteilgruppe/YMT Common part group/Piéces communes YMT 89
YMT Getriebe i=36/YMT gear box i=36/YMT réducteur i=36 10-11
YMT Getriebe i=99/YMT gear box i=99/YMT réducteur i=99 12-13
Steuerschalter/Control switch/Boite a boutons pendante 13
Riicklieferschein/Redelivery note/Retour bon de livraison 14-15

2 COLUMBUS McKINNON



‘ ( ®
Information zur Ersatzteilbestellung/Parts ordering information/Information sur les piéces ale

Dieses Produkt wurde fiir einen wartungsarmen Einsatz entwickelt und
konstruiert. Trotzdem ist es von Zeit zu Zeit erforderlich entsprechende
Bauteile bzw. VerschleiBteile auszutauschen.

Es wird empfohlen die folgenden Informationen zu dokumentieren:

Modellbezeichnung

Serien-Nr.

Kaufdatum

Bei der Bestellung von Ersatzteilen bitte folgendes beachten:

1. Modellbezeichnung und Seriennummer vom Typenschild angeben.
2. Ersatzteilnummer und Beschreibung angeben.
3. Angaben zur Menge nicht vergessen.

ANMERKUNG

Es diirfen nur Original Yale Ersatzteile verwendet werden.
Bei Nichteinhaltung erlischt mit sorftiger Wirkung die Garantie.

Riicklieferungen

Fir Ricklieferungen jeglicher Art (z.B. Reparatur, Garantie etc.) ist es
unbedingt notwendig einen entsprechenden Riicklieferschein bei unserer
Verkaufsabteilung Tel.: +49 (0) 202/69359-600 anzufordern. Bringen
Sie diesen Riicklieferschein bitte gut sichtbar auBem am Paket an. Bitte
beachten Sie, dass Riicklieferungen ohne Riicklieferschein nicht ange-
nommen werden konnen.

Garantieanspriiche konnen nur bei Komplettlieferungen von Geraten an
uns gerichtet werden. Wir behalten uns vor, Riicklieferungen auf Miss-
brauch, falsche Handhabung und Uberlastung hin zu iiberpriifen.

Entsorgung

Es wird empfohlen, nach Ende der Lebensdauer des Gerétes,
@ dieses so zu zerlegen, dass alle Bauteile entsprechend der
" Materialien recycelt werden konnen. Alle Bauteile miissen ol-
und fettfrei sein.

Fir weitere Informationen kontaktieren Sie bitte www.cmco.eu.

These products are designed and constructed to provide long, trouble-
free service. In time it may be necessary to order and install new parts
to replace those that have been subjected to wear.

For your convenience and future reference it is recommended that the
following information be recorded:

Model number

Serial number

Date purchased

When ordering replacement parts, please specify the following:

1. Model number and serial number as it appears on the name plate.
2. Part number(s) and part description as shown in this manual.
3. Quantity required.

NOTICE

Using other than genuine Yale replacement parts will invalidate the
warranty.

Return goods policy

For any return shipment (e.g. repair, warranty etc.) it is imperative to
request the adequate return document. Please note that a return without
the provided return document will not be accepted.

For this purpose please contact our sales department, at telephone
+49(0) 202/693 59-0. The return document must be attached directly
visible outside on the packaging.

Products which have been modified without Columbus McKinnon
Industrial Products approval, mishandled or overloaded will not be
repaired or replaced under warranty. A printed copy of the warranty
which applies to this product is provided inside the product information
manual.

Disposal

When the life of the product has expired, it is recommended
" that it be disassembled, degreased and parts separated as to
materials so that they may be recycled.

For additional information contact www.cmco.eu.

Ce produit a été développé et construit pour une demande de mainte-
nance trés réduite. Malgré cela, il est nécessaire de remplacer de temps
en temps les pieces d’usure.

Il est obligatoire d’obtenir les informations suivantes :

Description du modéle

N° de série
Date d‘achat

Lors d'une commande de piéces détachées, il est important de noter :
1. Donner la description compléte du modéle et le numéro de série sur
la plague d'identification.

2. Donner le code de la piéce détachée et sa description.

3. Ne pas oublier la quantité souhaitée.

REMARQUE

Seules les piéces détachées d'origine Yale doivent étre utilisées.
Dans le cas contraire, toute garantie ne sera plus applicable.

Retour marchandise

Pour chaque retour de marchandises (réparation, garantie...) il est
impératif de demander le document de retour. Nous vous informons
qu'un retour sans ce document ne sera plus accepté. Nous vous
demandons de contacter notre service commercial au N° suivant :
+49(0)202/69359-0. Le document de retour doit étre mis de facon
visible sur I'emballage.

Une étude de prise sous garantie ne peut se faire que par retour complet
de I'appareil concerné. Avant toute prise en charge, nous vérifierons les
situations suivantes : retour pour mauvaise utilisation, pour mauvaise
mise en application et pour surcharge.

Disposition
Il est conseillé, en fin de durée de vie de I'appareil, de considé-
@ rer que toutes les pieces de celui-ci sont réalisées en matiere
" recyclable. Dans ce cas, les piéces doivent étre nettoyées de
toute trace d’huile et de graisse.

Pour plus d'informations, merci de contacter www.cmco.eu.

COLUMBUS McKINNON 3



Ersatzteilliste/Spare parts list/List articles YMTF 0,6-30 / YMT 1-30

Gerat, kpl./Hoist assy./Palan ass.
YMTF 0,6-30 / YMT 1-30

<
N

’
’

O
q
h
S
Y

8! v

R\ o T\

b AT/
) -y \\ ‘\\q" /

SRR AR,
Nl

11

; Ve 2

{ ‘5”,"!5 T =
AR

' Ve

/ S

4 COLUMBUS McKINNON

25



®
Ersatzteilliste/Spare parts list/List articles YMTF 0,6-30 / YMT 1-30 Iale

Gerat, kpl./Hoist assy./Palan ass. YMTF 0,6-30 YMT 1-30
Pos. | Bezeichung/Description/Description Artikel-Nr./Part-No./ | Artikel-Nr./Part-No./ | Menge/Quantity/
Référence Référence Quantité
1 Gleichteilgruppe/Common part group/Piéces communes i=36, 66-100 kg N00780522 N00780522 1
2 Motor kpl./Motor assy./Moteur ass. BG71 1G/2G N00671031 N00780540 1
3 Steuerplatine kpl./ Control board assy./Carte de commande ass. 1G/2G N00670060 N00670346 1
4 Steuerung 400V, getriebeseitig/Control 400V, gearbox side/Commande 400V, coté réducteur N00780529 N00780529 1
5 mgtaegiglbpsgﬁuce;ﬁ;%lg%%\énggés?rigi/&ontrol assy. plate 400V, motor side/ NO0780527 NO0780527 1
6 Kupplungsteller, kpl./Clutch plate, assy./Disque d‘embrayage, ass. N00671052 N00671052 1
7 Distanzhilse/Spacer sleeve/Douille 18x14x10 N00671041 N00671041 1
8 Tellerfeder/Cup spring/Rondelle-ressort 28x 14,2x0,8 N09120060 N09120060 5
9 Fihrungszapfen fiir Platine/Guiding pin for PCB/Pion de guidage pour carte commande N00780532 N00780532 1
10 Haube, motorseitig/Cover, motor side/Capot, c6té moteur N00780389 N00780389 1
11 Haube, getriebeseitig/Cover, gearbox side/Capot, coté réducteur N00780390 N00780390 1
12 Lufterhaube, kpl./Fan cover, assy./Capot moteur, ass. N00671050 N00671050 1
13 Dichtung fiir Haube, getriebeseitig/Sealing for cover, gearbox side/Joint capot, coté réducteur N00780414 N00780414 1
14 Dichtung flir Haube, motorseitig/Sealing for cover, motor side/Joint capot, cété moteur N00780413 N00780413 1
15 Kabelverschraubung M20/Cable gland M20/Presse étoupe M20 N00671145 N00671145 2
16 Gegenmutter M20x 1,5/Counter nut M20x 1,5/Contre écrou M20x 1,5 N00780538 N00780538 2
17 Dichtungsscheibe fiir M20/Sealing disc for M20/Rondelle étanchéité M20 N00780537 N00780537 2
18 | Typenschild, motorseitig/Name plate, motor side/Plaque d'identification, c6té moteur N00780533 N00780533 1
19 Typenschild, getriebeseitig/Name plate, gearbox side/Plaque d'identification, coté réducteur N00780534 N00780534 1
20 | Typenschild, Gehause/Name plate, housing/Plaque d'identification, carter N00780535 N0O0780535 1
21 Zylinderschraube/Screw/Vis DIN EN ISO 4762 - M6x 12 - 8,8 N09102026 N09102026 2
22 Deckelschraube M5x24x42/Screw for cover M5x24x42/Vis pour capot M5x24x42 N00780452 NO0780452 4
23 Zylinderschraube/Screw/Vis ISO 4762 - M5x40 - 8,8 N09102148 N09102148 2
24 Deckelschraube/Screw for cover/Vis pour capot M5x 15x 28 N0O0671017 NO0671017 4
25 Deckelschraube/Screw for cover/Vis pour capot M5x24x94 N00780451 N00780451 2
26 | Zylinderschraube/Screw/Vis DIN EN ISO 4762 - M5x20 - 8,8 N09102062 N09102062 4
27 Zylinderschraube/Screw/Vis DIN EN I1SO 4762 - M5x12 - 8,8 N09102150 N09102150 3
28 | Zylinderschraube/Screw/Vis M5x10 - 8,8 DIN 7984 N09102044 N09102044 3
29 | Sechskantmutter/Nut/Ecrou DIN EN ISO 10511 - M5 - 8 N09115112 N09115112 2
30 | Zahnscheibe/Toothed washer/Rondelle dentée DIN 6797 - J 5,3 - FSt N09123055 N09123055 1

COLUMBUS McKINNON 5



Ersatzteilliste/Spare parts list/List articles YMTF 2-10 / YMT 3-10 / YMT 5-5

Gerat, kpl./Hoist assy./Palan ass.
YMTF 2-10 / YMT 3-10 / YMT 5-5

24

6 COLUMBUS McKINNON



‘ ( @
Ersatzteilliste/Spare parts list/List articles YMTF 2-10 / YMT 3-10 / YMT 5-5 ale

Gerat, kpl./Hoist assy./Palan ass. YMTF 2-10 YMT 3-10 YMT 5-5
Pos. | Bezeichung/Description/Description Artikel-Nr./Part-No./ | Artikel-Nr./Part-No./ | Artikel-Nr./Part-No./ | Menge/Quantity/
Référence Référence Référence Quantité
1 Gleichteilgruppe/Common part group/Piéces communes =99, 200-300 kg N00780521 N00780521 N00780521 1
2 Motor kpl./Motor assy./Moteur ass. BG71 1G/2G N00671031 N00780540 192047150 1
3 Steuerplatine kpl./ Control board assy./Carte de commande ass. 1G/2G N00670060 N00670346 N00670346 1
g | Jeverune :ggg'vgitg'tzbreézelfc'tggﬁo"t“" 00 i Sl N00780529 N00780529 N00780529 1
5 Mgghaegiﬁ'b gﬁ“ggﬁg%lﬂ%\éVf‘gg??ﬁ:gtggﬁo“t“" assy. plate 400V, motor side/ | \g97g0507 N00780527 N00780527 1
6 Kupplungsteller, kpl./Clutch plate, assy./Disque d‘embrayage, ass. N00671052 N00671052 N00671052 1
7 Distanzhilse/Spacer sleeve/Douille 18x14x10 N00671041 N00671041 N00671041 1
8 Tellerfeder/Cup spring/Rondelle-ressort 28x14,2x0,8 N09120060 N09120060 N09120060 5
9 Efoh;‘algzﬁfggzg L“;u':'ggftg/g‘#]dr:fagnzg‘ for PCB/ N00780532 N00780532 N00780532 1
10 Haube, motorseitig/Cover, motor side/Capot, c6té moteur N00780389 N00780389 N00780389
11 Haube, getriebeseitig/Cover, gearbox side/Capot, coté réducteur NO00780390 N00780390 N00780390 1
12 Lufterhaube, kpl./Fan cover, assy./Capot moteur, ass. N00671050 N00671050 N00671050 1
13 JD(;ic:ttlér;[g)gﬁrcgtaéu?:dugcig:]erbeseltlg/Sealmg for cover, gearbox side/ NO0780414 NO0780414 NO0780414 1
14 ?gic:gté;\%ggrcgﬁéuIl?ne(;tzlc)rtorseitig/Sealing for cover, motor side/ NO0780413 NO0780413 N00780413 1
15 | Kabelverschraubung M20/Cable gland M20/Presse étoupe M20 N00671145 N00671145 N00671145 2
16 | Gegenmutter M20x 1,5/Counter nut M20x 1,5/ Contre écrou M20x 1,5 N00780538 N00780538 N00780538 2
17 | Dichtungsscheibe fiir M20/Sealing disc for M20/Rondelle étanchéité M20 N00780537 N00780537 N00780537 2
18 ;ylggﬂgc(g‘,'iﬁé n’gg}:‘;rjgg'gc/o'f:”r:}%tz'j:e B S N00780533 N00780533 N00780533 1
19 ;{533:05"I'éjerﬁ?ﬁg:ﬁgft‘i{g”é?&féﬁte gearbox side/ N00780534 N00780534 N00780534 1
20 | Typenschild, Gehause/Name plate, housing/Plaque d'identification, carter N00780535 N00780535 NO0780535 1
21 | Zylinderschraube/Screw/Vis DIN EN ISO 4762 - M6x12 - 8,8 N09102026 N09102026 N09102026 2
22 aicggffggiﬁfiﬂ“giﬁjﬁz/ SEEL 27 e AR N00780452 N00780452 N00780452 4
23 | Zylinderschraube/Screw/Vis ISO 4762 - M5x40 - 8,8 N09102148 N09102148 N09102148 2
24 Deckelschraube/Screw for cover/Vis pour capot M5x 15x28 N00671017 N00671017 NO0671017 4
25 Deckelschraube/Screw for cover/Vis pour capot M5x24x94 N00780451 N00780451 NO0780451 2
26 | Zylinderschraube/Screw/Vis DIN EN ISO 4762 - M5x20 - 8,8 N09102062 N09102062 N09102062 4
27 Zylinderschraube/Screw/Vis DIN EN I1SO 4762 - M5x12 - 8,8 N09102150 N09102150 N09102150 3
28 | Zylinderschraube/Screw/Vis M5x 10 - 8,8 DIN 7984 N09102044 N09102044 N09102044 3
29 | Sechskantmutter/Nut/Ecrou DIN EN ISO 10511 - M5 - 8 N09115112 N09115112 N09115112 2
30 | Zahnscheibe/Toothed washer/Rondelle dentée DIN 6797 - J 5,3 - FSt N09123055 N09123055 N09123055 1

COLUMBUS McKINNON 7



Ersatzteilliste/Spare parts list/List articles

YMT Gleichteilgruppe/YMT Common part group/Piéces communes YMT

%

X

= \ ) / QY
R

‘\ {
A

11

27

8 COLUMBUS McKINNON



Ersatzteilliste/Spare parts list/List articles

Yale

YMT Gleichteilgruppe/YMT Common part group/ YMTF 0,6-30 | YMTF 2-10 YMT 5-5
Piéces communes YMT YMT 1-30 YMT 3-10
Pos. | Bezeichung/Description/Description Artikel-Nr./Part-No./ | Artikel-Nr./Part-No./ | Artikel-Nr./Part-No./ | Menge/Quantity/
Référence Référence Référence Quantité
1 Getriebe, kpl./Gear box, assy./Réducteur ass. i=36, 66-100 kg NO0780438 - - 1
1 Getriebe, kpl./Gear box, assy./Réducteur ass. i=99, 200-500 kg - NO0780437 NO0780437 1
2 Gehausedeckel/Housing cover/Capot carter NO0780433 NO0780433 NO00780433 1
3 Antriebswelle, kpl./Drive pinion, assy./Arbre d’entrainement, ass. N00780434 N00780434 N00780434 1
| Jobnabe 65 St Tator dsc o 65 wre o5 wosozs | woorsoszs | noorsoszs |1
5 Seilfiihrungsband/Rope guide belt/Guide cable NO0780406 NO0780406 NO0780406 1
6 Seilfiihrung, kpl./Rope guide assy./Ens. guide cable N00780441 N00780441 N00780441 1
7 i;ei2?Lé;(:,tdéshggpég;n?g&rseltlg/SeaIlng for housing, motor side/ NOO780415 NOO780415 NOO780415 1
8 Eggs‘s’ngg’fﬁ‘}[‘nﬁf ol 2"‘;@23@ bracket for end switch, assy./ N00780436 N00780436 N00780436 1
9 Schaltwippe/Actuator/Actuateur NO0780509 NO0780509 N00780509 1
10 Endschalterwelle/Axle for end switch/Axe fin de course NO0780403 NO0780403 NO00780403 1
11 Schaltnocke/Actuator cam/Came actuateur N00780404 N00780404 N00780404 1
12 Schenkelfeder/Yoke spring/Ressort NO00780405 N00780405 N00780405 1
13 | Bremse/Brake/Frein N00780571 N00780571 192053054 1
14 | Rillenkugellager/Bearing/Roulement a blies DIN 625 - 6009 - 2RS1 N09151152 N09151152 N09151152 1
15 | Rillenkugellager/Bearing/Roulement a blies DIN 625 - 6004 - 2RS1 N09151014 N09151014 N09151014 1
16 | Traghaken, kpl./Top hook, assy./Ens. crochet haut N0040272 N0040272 N0040272 1
17 | Tragbolzen/Suspention bolt/Axe 12x81 N00780402 N00780402 N00780402 1
18 Passfeder/Fitting key/Clavette - B 14x9x 18 N09131103 N09131103 N09131103 1
19 Passfeder/Fitting key/Clavette N09131099 N09131099 N09131099 1
20 Lager-Verschlusskappe/Bearing cover/Bonnet N00670084 N00670084 N00670084 1
21 | Sicherungsring/Retaining ring/Circlip DIN471 - 9x 1 N09129055 N09129055 N09129055 1
22 Sicherungsring/Retaining ring/Circlip DIN471 - 8x0,8 N09129031 N09129031 N09129031 1
23 | Wellendichtring/Qil seal/Joint d'arbre DIN3760 - A 9x24x7 N09172127 N09172127 N09172127 1
24 | Zylinderschraube/Screw/Vis ISO 4762 - M6x45 - 8,8 N09102171 N09102171 N09102171 4
25 | Zylinderschraube/Screw/Vis N09102067 N09102067 N09102067 2
26 | Zylinderschraube/Screw/Vis DINENISO4762 - M6x20 - 8,8 N09102146 N09102146 N09102146 2
27 Zylinderschraube/Screw/Vis DINEN IS0 4762 - M4x10 - 8,8 N09102147 N09102147 N09102147 3
28 | Sechskantmutter mit Flansch/Nut with flange/Ecrou avec flanc - M8 N09115180 N09115180 N09115180 1
29 | Zylinderstift ISO2338 - 6m 6x 18 - St/Goupille ISO2338 -6 m 6x18 - St N09124194 N09124194 N09124194 2
30 Spannstift/Spring pin/Boulon de serrage DINENISO 8752 - 4x24 - St N09134005 N09134005 N09134005 1
31 | Spannstift/Spring pin/Boulon de serrage DINENISO 8752 - 3x 18 - St N09134133 N09134133 N09134133 2
32 | Scheibe/Washer/Disque DIN9021 - 4,3 - St N09121076 N09121076 N09121076 1

COLUMBUS McKINNON 9



Ersatzteilliste/Spare parts list/List articles

Getriebe i=36/Gear box i=36/Réducteur i=36
N00780438

(=]
-

g4 ~ (=] N o v
N N N - N

10 COLUMBUS McKINNON



I ®
Ersatzteilliste/Spare parts list/List articles Ia e

Getriebe i=36/Gear box i=36/Réducteur i=36 YMTF 0,6-30
N00780438 YMT 1-30
Pos. | Bezeichung/Description/Description Artikel-Nr./Part-No./ | Menge/Quantity/
Référence Quantité
1 Gehause, Mittenteil/Middlepart of housing/Carter intermédiaire NO00780431 1
2 Gehause, Getriebedeckel/Housing, gear cover/Carter réducteur N00780432 1
3 Gehausedichtung, getriebeseitig/Sealing for housing, gearbox side/Joint carter, c6té réducteur NO0780416 1
4 Abtriebswelle/Drive pinion/Arbre d’entrainement N00780388 1
5 Zwischenwelle/Shaft/Axe N00780519 1
6 Zahnrad/Gear/Roue denteé 72 N00780398 1
7 Zahnrad/Gear/Roue denteé 73, i=36 N00780520 1
8 Zahnrad/Gear/Roue denteé 74, i=36 N00780396 1
9 Distanzhulse/Spacer sleeve/Douille N00780418 2
10 Rillenkugellager/Bearing/Roulement a blies DIN 625-6009-2RS1 N09151152 1
11 Rillenkugellager/Bearing/Roulement a blies DIN 625-6202-2RS1 N09151087 1
12 Rillenkugellager/Bearing/Roulement a blies DIN 625-6002-2RS1 N09151153 1
13 Rillenkugellager/Bearing/Roulement a blies DIN 625-609-2RS1 N09151145 1
14 Passfeder/Fitting key/Clavette - B 12x8x20 N09131107 1
15 | Passfeder/Fitting key/Clavette DIN 6885 - A 5x5x40 N09131102 1
16 | Wellendichtring/Qil seal/Joint d’arbre DIN3760 - A 42x62x8 N09172125 1
17 Wellendichtring/Qil seal/Joint d’arbre DIN3760 - A 15x26x7 N09172126 1
18 | Sicherungsring/Retaining ring/Circlip DIN471 - 38x1,75 N09129019 1
19 Sicherungsring/Retaining ring/Circlip DIN471 - 15x 1 N09129023 2
20 | Sicherungsring/Retaining ring/Circlip DIN472 - 32x1,2 N09130005 1
21 Lager-Verschlusskappe/Bearing cover/Bonnet N00670084 1
22 Verschlussschraube/Locking screw/Vis de fermeture M16x 1,5 N09110052 1
23 Kupferdichtring/Copper seal ring/Cuivre bague d‘étanchéité DIN7603 - M16x1,5 N09179004 1
24 | Zylinderschraube/Screw/Vis ISO 4762 - M6x55 - 8,8 N09102124 8
25 | Zylinderstift ISO2338 - 6m 6x18 - St/Goupille ISO2338 - 6m 6x18 - St N09124194 2

COLUMBUS McKINNON 11



Ersatzteilliste/Spare parts list/List articles

Getriebe i=99/Gear box i=99/Réducteur i=99
N00780437

NSO

18

24

19
11

12 COLUMBUS McKINNON



I ®
Ersatzteilliste/Spare parts list/List articles Ia e

Getriebe i=99/Gear box i=99/Réducteur i=99 YMTF 2-10
N00780437 YMT 3-10
Pos. | Bezeichung/Description/Description Artikel-Nr./Part-No./ | Menge/Quantity/
Référence Quantité
1 Gehause, Mittenteil/Middlepart of housing/Carter intermédiaire NO00780431 1
2 Gehause, Getriebedeckel/Housing, gear cover/Carter réducteur N00780432 1
3 Gehausedichtung, getriebeseitig/Sealing for housing, gearbox side/Joint carter, c6té réducteur NO0780416 1
4 Abtriebswelle/Drive pinion/Arbre d’entrainement N00780388 1
5 Zahnrad/Gear/Roue denteé 72 N00780398 1
6 Zahnrad/Gear/Roue denteé 73, i=99 N00780401 1
7 Zahnrad/Gear/Roue denteé 74, i=99 N00780400 1
8 Distanzhulse/Spacer sleeve/Douille N00780418 2
9 Rillenkugellager/Bearing/Roulement a blies DIN 625-6009-2RS1 N09151152 1
10 | Rillenkugellager/Bearing/Roulement a blies DIN 625-6202-2RS1 N09151087 1
11 Rillenkugellager/Bearing/Roulement a blies DIN 625-6002-2RS1 N09151153 1
12 Rillenkugellager/Bearing/Roulement a blies DIN 625-609-2RS1 N09151145 1
13 Passfeder/Fitting key/Clavette - B 12x8x20 N09131107 1
14 Passfeder/Fitting key/Clavette DIN6885 - A 5x5x18 N09131064 1
15 | Wellendichtring/Qil seal/Joint d'arbre DIN 3760 - A 42x62x8 N09172125 1
16 | Wellendichtring/Qil seal/Joint d’arbre DIN3760 - A 15x26x7 N09172126 1
17 Sicherungsring/Retaining ring/Circlip DIN471 - 38x 1,75 N09129019 1
18 | Sicherungsring/Retaining ring/Circlip DIN471 - 15x 1 N09129023 1
19 Sicherungsring/Retaining ring/Circlip DIN472 - 32x 1,2 N09130005 1
20 Lager-Verschlusskappe/Bearing cover/Bonnet N00670084 1
21 Verschlussschraube/Locking screw/Vis de fermeture M16x 1,5 N09110052 1
22 Kupferdichtring/Copper seal ring/Cuivre bague d‘étanchéité DIN7603 - M16x1,5 N09179004 1
23 | Zylinderschraube/Screw/Vis ISO 4762 - M6x55 - 8,8 N09102124 8
24 | Zylinderstift ISO2338 - 6m 6x 18 - St/Goupille ISO2338 - 6m 6x18 - St N09124194 2
Steuerschalter/Control switch/Boite a boutons pendante all
Pos. | Bezeichung/Description/Description Artikel-Nr./Part-No./ | Menge/Quantity/
Référence Quantité
1 Steuerschalter Charlie 1G/Control switch Charlie 1G/Boite a boutons pendante Charlie 1G 00670309 1
1 Steuerschalter Charlie 2G/Control switch Charlie 2G/Boite a boutons pendante Charlie 2G 00670312 1

Steuerschalter/Control switch/Boite a boutons pendante
YMT

COLUMBUS McKINNON 13



Riicklieferschein/Redelivery note/Retour bon de livrasion

Retouren — Wir benotigen lhre Unterstutzung!

Snlw genhris Dersnn snad Heren,

dim GO0 RIS WeKINNON Indusinial Products EmbH - prodeie it ee Beeit sech sinkeiilicie s, lonkvolie e n Mefisitbe s der
[HM EN B0 Den gerentinrt usswss Gaachifiywetrmm eriilisn Mo in Desge wsd Enlsickhsg, Produldion, Monisge
il Kisdereiesd, Solles 5 folr sdem simmal G 7er Beserdewing b e sneser Prodeide balwe, A infrmisen
Bin ume bt v Sin des Produld snouns zenick saeden, s sl Bnen gem.

merialh der Caraaion i sown i seagee Bl n Produldes esn e dee Produld sinlsch shiwise, sesis n e men e
e pere nEm s S receperiner i e Nale.

Lim i Alverickdeng vm Frlousen fir Sn o achee | uned sinfach win mBglich zu geainling,
kalwn wir den Allsal in dei Scheilien ussmme ngp nesk:

Annran urd CAMCD Rlokliafarsahaln gamalit balamman
- CIC0 Rlakiblorsabals susdraolan
- CIC0 Rakliolarsabals vor sullon auf de Palst kaban

Cimenr ninfache Ableol il i Fe oo e CosSivinieheg, for S sndeisnongen usi
T amalige Rockiwisnmgan Soll s Hem die ki won e Endle s den surick ge s nds
we e, e rmemin e CWE O Rockisinmcie e bills ss haen Endiesden weilar gegplee
we Al

Bitle benchien S, den Ariid o el deremien M Tage nech Engeng und  melt

maeramn Enverziiaisis, i Ongreiasdesd vl unde schidesd nrnickgegeben sendes
EEnann,

Bri pvenhwlieny Trasaurbachiien sl s versichensgales chnisclien  Grisden g

Hexbiligy g 2 Scleiem durch den Frechiiolrer sriordarich. Bills ewises S b
molctwn Schidan anlirt den Logmllyserionr dersf b ond s nevsigem 5 get dn
Amnaham,

Bri e Yorachadden des. Kidinrm, der piner nichi beechgine Reabklemalion, mitasmn
wir bilar die Kminn e r Fickesssdeng s nbyie clend sn den Kunden esiisrdemdeen
For Emingrnusgs- usd (herpriungsosien bringsn win in disssm Fall in der Guischift 20K in Abeug.

Keaw Anmerong nom Schhvers iniler iSnees o ms rgenisslyiache s Grinden e iss Reimesn ohre snispeechendee
CHRCT Rockdnfarachein me br s lmend

Wi dealwn han im Yo i By Yemllardsa, Fr Alckiegee sleki hmn s Yarieh geme o Yerfizang,

W5t i dicie e Enifine,
COLIMVEN T KN O Indosinel Proxdecis GmbH

14 COLUMBUS McKINNON



®
Riicklieferschein/Redelivery note/Retour bon de livrasion Iale

Returns — We need your support!

Dnar S,

COLIN T MEINN O Indsiriel Prodecls. GmbH menaifaciue s sorideide. scosnding o unifomn, conlrlisd stendesris of
EN 13053001, This i & gearsniae or o busse s periem hal geen sledands i desgn smd dews iopreent, mensiachering,
mmamnbly sed e e s complied with, inoapin of Al o elfods, shesld Hee 280 b s masn e complsin shouk o of o
s, we ndly ssk you i oo e e yoe mhen e geods b ea. s ol e happey o e ip oyl

To g rehass aa quckly s sy 52 posshin e srsmanes He prooess o e slepa:
Call i io moahm a CAHICO nohun calhary noln

—Print ost CHCO reture dalhary nota
-+ Stiak CMCO miam dalvary moin on tha culsidn of tha pankagp

Thin pewy sevme e il b ol For werrsaly rehoes, o snses rehores el e pller

mhn deberea incosn e goods sl b slipped dimclly fom o sl usr s p-
procaln Hel yos ineed be CRCC i devery soln B e cesen

Pl nols Thal prohecin cas only e shemed wilh o prior sppomsl snd st b
mrmnpaied by 8 CMCC s demry noln . Eonids smiving eilhoul e e delmny

maln will not e acxepied by o gooedes-in de parksent.

in ceen of polential et dearsge, 8 demage o epet provaded by e
resrder a e d by o nareee conpasy. Pees ndcels poleslinl snepod
dmamgen wmme dialely i your ingelcs pariesr sl e s place.

K e mesm i Hw relum delery i nol wilhie CEC e wmaponaibilly or in ceme of
mjpsind conplsind wn - much b o mget el hae o paes o e ooeds o e
i For cosls wrineg for squipme et being rrhereed b alock sd e e oess sy
Aot wn will lovy 8 malicking chage of AT The seend ol b dedecied f7om
o creilil e afler i seid scoapbee of Te gosda

W Heaal you For o snade reise g Cur aaiea insmn i sslshie o sy feriier eskoss,

Hent mgaris,
COLUMEUS McKINNON indunirial Prodects GmbH

COLUMBUS McKINNON 15



Germany

COLUMBUS McKINNON
Industrial Products GmbH*
Yale-Allee 30

42329 Wuppertal

Phone: 00 49 (0) 202/69359-0
Web Site: www.cmco.eu

Web Site: www.yale.de

E-mail: info.wuppertal@cmco.eu

COLUMBUS McKINNON
Engineered Products GmbH*
Am Silberpark 2-8

86438 Kissing

Phone: 00 49 (0) 8233 2121-777
Web Site: www.cmco.eu

Web Site: www.pfaff-silberblau.com
E-Mail: sales.kissing@cmco.eu

Pfaff Verkehrstechnik GmbH*

Am Silberpark 2-8

86438 Kissing

Phone: 00 49 (0) 8233 2121-4500

Web Site: www.pfaff-silberblau.com

E-Mail: verkehrstechnik@pfaff-silberblau.com

Austria

COLUMBUS McKINNON
Hebetechnik GmbH*
Gewerbepark, Wiener StraBe 132a
2511 Pfaffstatten

Phone: 00 43 (0) 22 52/22 133-0
Web Site: www.cmco-hebetechnik.at
E-mail: zentrale@cmco.at

Switzerland

COLUMBUS McKINNON Switzerland AG
DaéllikerstraBe 25

8107 Buchs ZH

Phone: 00 41 (0) 44 8 51 55 77

Web Site: www.cmco.ch

E-mail: info.buchs@cmco.eu

Italy

COLUMBUS McKINNON Italia S.r.l.
Via 11 Settembre 26

20023 Cerro Maggiore (Ml)

Phone: 00 39 (0) 331/57 63 29

Web Site: www.cmco-italia.it

E-mail: vendite@cmco.eu

Netherlands

COLUMBUS McKINNON Benelux B.V.
Flight Forum 128 a

5657 DD Eindhoven

Phone: 00 31 (0) 40/3 03 26 81

Web Site: www.cmco.eu

E-mail: sales.nl@cmco.eu

France

COLUMBUS McKINNON France SARL*
Zone Industrielle des Forges

33 Rue Albert et Paul Thouvenin

18108 Vierzon Cedex

Phone: 00 33 (0) 248/71 85 70

Web Site: www.cmco-france.com

E-mail: sales.fr@cmco.eu

Great Britain

COLUMBUS McKINNON Corporation Ltd.**
Knutsford Way, Sealand Industrial Estate

Chester CH1 4NZ

Phone: 00 44 (0) 1244 375375

Web Site: www.cmco.eu

E-mail: sales.uk@cmco.eu

Northern Ireland & Republic of Ireland

COLUMBUS McKINNON Corporation Ltd.
1A Ferguson Centre

57-59 Manse Road

Newtownabbey BT36 6RW

Northern Ireland

Phone: 00 44 (0) 2890 840697

Web Site: www.cmco.eu

E-mail: sales.ni@cmco.eu

COLUMBUS McKINNON Ireland Ltd.
Unit 4, South Court

Wexford Road Business Park

Co. Carlow

Phone: 00 353 (0) 59 918 6605

Web Site: www.cmco.eu

E-Mail: info.irl@cmco.eu

Spain & Portugal

COLUMBUS McKINNON Ibérica S.L.U.
Ctra. de la Esclusa, 21 acc. A

41011 Sevilla

Phone: 00 34 954 29 89 40

Web Site: www.cmiberica.com

E-mail: informacion@cmco.eu

Poland

COLUMBUS McKINNON Polska Sp.z o.0.
ul. Owsiana 14

62-064 PLEWISKA

Phone: 00 48 (0) 61 6 56 66 22

Web Site: www.cmco-polska.pl

E-Mail: kontakt@columbus-mckinnon.pl

Hungary

COLUMBUS McKINNON Hungary Kft.*
Vasarhelyi ut 5. VI ép

8000 Székesfehérvar

Phone: 00 36 (22) 880-540

Web Site: www.cmco.hu

E-mail: sales.hungary@cmco.eu

COLUMBUS McKINNON

United Arab Emirates
COLUMBUS McKINNON Member
STAHL CraneSystems FZE
Warehouse RA 08/SC 08

P.0. Box 261271

Jebel Ali Free Zone

Dubai, U.A.E.

Phone: 00 971 4 8053 700

Web Site Stahl: www.stahlcranes.com
E-mail Stahl: infouae@stahlcranes.com
Web Site CMCO: www.cmco.eu

E-mail CMCO: sales.uae@cmco.eu

South Africa

CMCO Material Handling (Pty) Ltd.*
P.0. Box 15557

Westmead, 3608

Phone: 00 27 (0) 31/700 43 88

Web Site: www.cmcosa.co.za

E-mail: sales@cmcosa.co.za

Yale Engineering Products (Pty) Ltd.
P.0. Box 4431

Honeydew, 2040

Phone: 00 27 (0) 11/794 29 10

Web Site: www.yalejhb.co.za

E-mail: info@yalejhb.co.za

Yale Lifting Solutions (Pty) Ltd.*
P.0. Box 592

Magaliesburg, 1791

Phone: 00 27 (0) 14/577 26 07

Web Site: www.yale.co.za

E-mail: sales@yalelift.co.za

Yale Lifting Solutions
Industrial Division (Pty) Ltd
P.0.Box 19342

Pretoria West, 0117

Phone: 00 27 (0) 12/327 06 96
Web Site: www.pfaffhoist.co.za
E-mail: sales@pfaffhoist.co.za

Russia

COLUMBUS McKINNON Russia LLC
ul. Marshala Govorova 35

Building 4, liter|, premises 16-N, office 413
198095 St. Petersburg

Phone: 007 (812) 322 68 38

Web Site: www.cmco.ru

E-mail: info@cmco.ru

%

v

MANAGEMENT
SYSTEMS

FM 20103

Technische Anderungen vorbehalten. Keine Gewahrleistung fiir Druckfehler oder Irrtiimer.
Reproduktionen, gleich welcher Art, nur mit schriftlicher Genehmigung der Columbus McKinnon Industrial Products GmbH.

Subject to engineering changes and improvements. No warranty for printing errors or mistakes.
Reproduction or reprinting can only be carried out with written permission from COLUMBUS McKINNON Industrial Products GmbH.



